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10. The record of XY7, Ltds are ag follow :

2011 2012
Sales 3,45,000 3,90,625
Total Cost 3,12,500 3,21,250

: .Find out :
i) Profit Volume Ratio
(i) Fixed Cost
(i) Break even point
(iv) Profit or Loss on the saje ofRs. 1,50,000
- () Profiton Sales of Rs. 8,00,000.
XYZR. 3 aftrdg Py vy & % .
| 2011 2012
Resg 345,000 390625
RS I ) 3,12,500 3,21,250
T Ay
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®) %.1,50,000 % R o7 ST 3rerT Py
V) . 8,00,000% Ry 9T A |
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Note :

15

Attempt five questions in all, selecz_‘ing at least one
question but not more than two questions from each unit.
All questions carry equal marks.
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Unit-1 (1)

L. Define Cost Accounting, Explain briefly various types of costing
16
methods,

maammﬁwmaﬁm.raﬁamﬁmm
R % st sare i

2. (a

®)

What do you mean by material contro] ? Explain the basic
principles of material control. |
mﬁﬁﬁmﬁmwmﬁ%?mﬁhﬁw%’iﬁ
Rrsr<it  sarear s ‘
A company manufactures 5000 units ofaproduct per month.
The cost of placing an order s Rs. 100. The purchase price
of the raw materia] jg Rs. 10 perkg. The re-order perjod is
410 8 weeks. The consumption of raw material varjes from
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100 kg. to 450 kg, per week. The average consumption
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(e} "
::lng 275 kg. The carrying cost of inventory is 20% per R @ e Fitw | T a9,
um. You are required to calculate- | | S S T ST it 3 v T P
G Roamiequaicy (i) Re-orderlevel st ) e & e e
(i) - Maximum level Gv) Minimumlevel : ;
(v) Average stock level. gD | §. Whatdoyou mean by Reconciliation Statement ? Exp}ainthe
;nﬁ aqq;;:{; oy T @ SR B 500 N <ot causes. of differences between the results of cost. accounts and
: #Q @ qra . 100 o WoEk F H I figencial aocone. - .
ﬁloﬁ%ﬁﬁ%lgﬁzmm4ﬁsgﬁ%|mm - mﬂﬁwawm%?m@ﬁimﬁm@ﬁ%
%Gﬁwq‘i"lﬂ%mloo%ﬁw%oﬁ%éﬁqﬁaﬁﬂa qﬁwﬁ%é\am%mﬁaﬁmmm|
' wﬁwms%ﬁ%nﬁaﬁaﬁtwaﬁthm : -
ufy a9 B amue Fes @t TOFT Fo 2 : 9. Fromthe foﬂowingpaﬂculars, calculate material variances and
(i)- g R HET (i) gq:' ARy w ‘ A ' givemeirrelaﬁonship:
((“‘) SR FT Gv) g & Standard Actual
A ’
j ) Sl el ww | Mgerigl Quantity  PHc® Quantity  Price
- (a) Explai
) Explain the need and factors for selecting incentive Ke) Rs.) (Kg.)_ Rs.)
schemes. : A 50 6.00 40 6.00
e Al & T i A T A A B 40 &) SURCRRE L 3.60
®) BT | ok iad C 30 3.00 40 2.80
z}:‘at ea.x:ning will a worker receive under the following ‘ = 2(_) 130 16
o ;meSIfhee)(ecutes apieccofworkm(iohoursasagainst fpfaiEd e g grel e & Ol m qur
% ours allowed to him. His hourly wages rateis Rs. 2 and ' g TR ¢
v: gets <_iearness allowances of Rs 8 per day of 8 hours L , G SIEE]
| orked in addition to his wages el N E& A LR
(@) Halsey Premium Plan (50% of bonus) @ o E @ &)
A 50 6.00 40 6.00
Eb) i ' B 40 = 3,15 50 3,60
c) Emerson Efficiency Plan 7+9 C 30 3.00 40 2.80
120 o
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(6)

was certified 80 percent of which was received in cash. Work
done but not certified was Rs. 10,000. Depreciate plant @ 10
percent per annum. Prepare contract account for the year and
show the items related to contract in the balance sheet. 16

X’ FEHE BT T ¢ T4 3 Fwior 3 5. 50,00,000 1 0
3 A B ad & A Pt @t g

Rs.
UTH &9 q T B R aneh 4,50,000
7o § Ffa aeelt 5,00,000
a9 O A 3,50,000
&q Aeigd 10,00,000
I @ 1,65,000
Jurteld Forgdt @ oy oY 4,25,000

31 @re FH gl A o aneh & @ . 2,00,000 % w4 a9
5. 1,50,000 %t arelt 7 & ) 5. 20,000 # @@ & Qe
H ®. 25,000 % A= Ry ) 4 F ot R 5. 5,000 9
1 HET FUSR AR T Rear s qor | o e P
AP &, 2,000 €t &Y & Hreo7 dWE A T 5. 24,00,000 FH
Fd o e Rred 80 ofiwm & gTRF TR wra R
e war #d S s € ar 5. 10,000 @ vy 10 SRS oy
a4 I @ H9H W e a0 a¥ B R 3 @ s o
g # 3% & gl w8 @ aufzu)

Unit-11X (§3r-111)

Define Process costing. Explain the accounting treatment of
normal wastage, abnormal wastage and abnormal gains with

imaginary figures. 16

21077

S 3)

frriciie drorall & oferia we @wfard @t @ aveh @
e 98, 30 W 75 6 B frew 60 0T F Rl w5 B qu
HT A 3| EH TorGH G, 20y Her ¥ o I 8 @R
AR # A W . 8 TETE W IH wEh B o
Py & -

(%) e A AoF (50% A7)

(@) faw e Qo
() e Fewar doe
Unit—1T (ge1-11)
4. (a) Explainthe basis of apportionment of factory overheads.
FCE UG ® Ao & oA e fifvw
- (b) Describe the methods of absorption of office and
administration overheads. 8+8
Pt qer gematE JuRemdt B sraeirr # Rt & aviw
I |
8. Inrespect ofa factory the following figures have been obtained |
for the year 2017 :
Rs.
Cost of Materials 6,00,000
Wages for Labour 5,00,000
Factory Overheads 3,00,000
Administration Charges 3,36,000
Selling Charges 2,24,000
21077 [Tumover




(4)
Distribution Charges 1,40,000
Profit 4,20,000

A work order has been executed in 2018 and the following
expenses have been Incurred.

Rs.
Material 8,000
Labour 5,000

Assuming that in 2018 the rate of factory overheads has gone
up by 20 percent; distribution chargeé have gone down by 10
percent and selling and administration charges have each gone
up by 123 percent; at which price should the product be sold so
as to earn the same rate of profit on selling price as it was in
2017 ? Factory overheads are based on Direct Labour and
Administration, Selling, Distribution on factory cost. 16

o HeEm B el § af 2017 @ R Prafie oiies o
gt‘_.'

5.
gt @ AT 6,00,000
57 ¥ Tl 5,00,000
HEFT I 3,00,000
BEICIEE IR 3,36,000
REcn i Licy 2,24,000
AT g 1,40,000
a bl - 420,000
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(5)

2018ﬁ@mﬁaﬁmﬁmﬁaﬁmwmﬁmﬁﬁam
§Q:

: G.
qred 8,000
k| 5,000

7E A 8¢ 6 2018 A @ SuRerdt #it & 20 sfiw 93 T,
foreT g9 10 sifderd #49 & 10 qun Rse 7 gamite T 123
yfder 9% T BFE 97 W SWE S 391 e B 3§ W 2017 &
affa @ 3 g9 W W AW ol B s ad ? s
IR g 9 agr 9ureH, {6, $REM ar ) R )
i &)

‘X’ construction company undertook a contract of Rs. 50,00,000
for the construction of new building. Following expenditures were
incurred during the year.

Rs.
4,50,000
5,00,000

Material Directly Purchased
Material Issued from Stores
Plant Installed Cost 3,50,000
Wages Paid 10,00,000
Other Expenses 1,65,000
Accrued Wages and Other Expenses 4,25,000

Of the plant and material charged to contract account,
plant costing Rs. 20,000 and material costing Rs. 1,50,000 were
destroyed. Material costing Rs. 20,000 were sold for Rs. 25,000.
Plant costing Rs. 5,000 was transferred to store at the last day
of the year and a part of the plant whose cost was Rs. 2,000
became useless due to damage. Work costing Rs. 24,00,000
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